KS-FILTERS IN KS-ALGEBRAS

YOUNG BAE JUN

Received February 14, 2003

ABSTRACT. The notion of a KS-filter of a KS-algebra is introduced, and some related properties are investigated. Conditions for a stable subset to be a KS-filter. KS-filters containing a stable subset are established.

1. INTRODUCTION.

In 1993, Jun et al. [1] introduced a new class of algebras related to BCI/BCK-algebras and semigroups, called a BCI/BCK-semigroup. In 1998, for the convenience of study, Jun et al. renamed the BCI/BCK-semigroup as the IS/KS-algebra, and studied related properties (see [2]). In this paper, we introduce the notion of KS-filters in KS-algebras, and investigates some of its properties. We give conditions for a stable subset to be a KS-filter. Given a stable subset F of a KS-algebra X, we establish KS-filters containing F.

2. Preliminaries

We review some definitions and properties that will be useful in our results.

By a *BCI-algebra* we mean an algebra (X, *, 0) of type (2,0) satisfying the following conditions:

- ((x * y) * (x * z)) * (z * y) = 0,
- (x * (x * y)) * y = 0,
- x * x = 0,
- x * y = 0 and y * x = 0 imply x = y

for all $x, y, z \in X$. A BCI-algebra X satisfying $0 \le x$ for all $x \in X$ is called a *BCK-algebra*. In any BCK/BCI-algebra X one can define a partial order " \le " by putting $x \le y$ if and only if x * y = 0.

Definition 2.1. (Jun et al. [2]) A KS-algebra is a non-empty set X with two binary operations "*" and "." and constant 0 satisfying the axioms

- K(X) := (X, *, 0) is a BCK-algebra.
- $S(X) := (X, \cdot)$ is a semigroup.
- the operation "." is distributive (on both sides) over the operation "*", that is, $x \cdot (y * z) = (x \cdot y) * (x \cdot z)$ and $(x * y) \cdot z = (x \cdot z) * (y \cdot z)$ for all $x, y, z \in X$.

Especially, if K(X) := (X, *, 0) is a BCI-algebra in Definition 2.1, we say that X is an IS-algebra. Note that every KS-algebra is an IS-algebra. We shall write the multiplication $x \cdot y$ by xy, for convenience.

Proposition 2.2. (Jun et al. [1]) Let X be an IS-algebra. Then we have

- (i) 0x = x0 = 0.
- (ii) $\forall x, y \in X, x \leq y \Rightarrow xz \leq yz, zx \leq zy \, \forall z \in X.$

²⁰⁰⁰ Mathematics Subject Classification. 06F35, 03G25, 20M99.

Key words and phrases. (bounded) KS-algebra, KS-filter, star-commutative, dot-commutative.

3. KS-FILTERS

Definition 3.1. A KS-algebra X is said to be *bounded* if there exists a special element $e \in X$ such that $x \leq e$ for all $x \in X$. In this case, we call e the *bound* of X. A KS-algebra X is said to be *star-commutative* (resp. *dot-commutative*) if x * (x * y) = y * (y * x) (resp. xy = yx) for all $x, y \in X$.

In what follows let X denote a bounded KS-algebra unless otherwise specified, and we will use the notation e(x) instead of e * x for all $x \in X$ and the bound e of X.

Definition 3.2. A subset F of X is called a *left* (resp. *right*) KS-*filter* of X if it satisfies: (F1) F is a left (resp. right) stable subset of S(X),

(F2) F contains the bound e of X,

(F3) $e(e(x) * e(y)) \in F$ and $y \in F$ imply $x \in F$.

In the sequel, a KS-filter means a left KS-filter, and a stable subset means a left stable subset.

Proposition 3.3. Let F be a KS-filter of X and let $x \in X$. If there exists $y \in F$ such that $e(x) \leq e(y)$, then $x \in F$.

Proof. The inequality $e(x) \leq e(y)$ implies that

$$e(e(x) * e(y)) = e(0) = e * 0 = e \in F$$

and so $x \in F$ by (F3). This completes the proof.

Corollary 3.4. Let F be a KS-filter of X and let $x, y \in X$ be such that $y \leq x$. If $y \in F$, then $x \in F$.

Proof. Let $x, y \in X$ be such that $y \leq x$. Then $e(x) \leq e(y)$. It follows from Proposition 3.3 that $x \in F$.

Proposition 3.5. Let X be star-commutative and let F be a KS-filter of X. Then

$$\forall x, y \in X, \ x, y \in F \Rightarrow \text{glb}\{x, y\} \in F.$$

Proof. Note that $glb\{x, y\} = x \land y$ for all $x, y \in X$, where $x \land y = y * (y * x)$. Let $x, y \in F$. Since

$$\begin{array}{rcl} x & = & e(e(x)) \leq e(y * x) = e(y * (y * (y * x))) \\ & = & e(y * (x \land y)) = e(e(x \land y) * e(y)), \end{array}$$

it follows from Corollary 3.4 that $e(e(x \land y) * e(y)) \in F$ so from (F3) that $x \land y \in F$. This completes the proof.

Theorem 3.6. Let X be star-commutative and let F be a nonempty subset of X. Then F is a KS-filter of X if and only if it satisfies (F1), (F2) and (\mathbb{R}^{4}) $\forall x \in \mathbb{R}$ $(x,y) \in \mathbb{R}$ $(x,y) \in \mathbb{R}$

(F4) $\forall x, y \in X, y \in F, e(y * x) \in F \Rightarrow x \in F.$

Proof. The proof is straightarrow because e(e(x) * e(y)) = e(e(e(y)) * x) = e(y * x) for all $x, y \in X$.

We give conditions for a stable subset of S(X) to be a KS-filter of X.

Theorem 3.7. Let X be star-commutative that satisfies the equality x * y = (x * y) * y for all $x, y \in X$. Let F be a stable subset of S(X) such that

(i) $\forall x, y \in X, x \in F, x \leq y \Rightarrow y \in F.$ (ii) $\forall x, y \in X, x, y \in F \Rightarrow \text{glb}\{x, y\} \in F.$ Then F is a KS-filter of X. *Proof.* Since $x \leq e$ for all $x \in X$ and hence $x \in F$, it follows from (i) that F contains the bound e of X. Let $x, y \in X$ be such that $e(e(x) * e(y)) \in F$ and $y \in F$. Note that

$$x * y = (x * y) * y \Leftrightarrow y \land x = x * e(y)$$

for all $x, y \in X$. Thus

$$\begin{array}{rcl} x \wedge y &=& y * (y * x) = e(y * x) * e(y) \\ &=& e(y * x) \wedge y = e(e(x) * e(y)) \wedge y \in F \end{array}$$

by (ii). Since $x \wedge y \leq x$, it follows from (i) that $x \in F$. Hence F is a KS-filter of X.

Lemma 3.8. For any $r_1, \dots, r_n, x, y, z \in X$, we have

$$\begin{split} r_n(r_{n-1}(\cdots(r_1x)\cdots)) &\leq r_n(r_{n-1}(\cdots(r_1y)\cdots)) \\ \Rightarrow r_n(r_{n-1}(\cdots(r_1(x*z))\cdots)) &\leq r_n(r_{n-1}(\cdots(r_1(y*z))\cdots)) \end{split}$$

Proof. It is straightforward by the mathematical induction.

Theorem 3.9. Let X be dot-commutative such that e(kx) = ke(x) for all $k, x \in X$ and let F be a stable subset of X. Then the set

$$\Omega_1 := \{ x \in X \mid b_n(b_{n-1}(\dots(b_1((\dots((e(x) * e(a_1)) * e(a_2)) * \dots) * e(a_n))) \dots)) = 0 \\ \text{for some } a_1, a_2, \dots, a_n \in F \text{ and } b_1, b_2, \dots, b_n \in X \setminus \{0\} \}$$

is a KS-filter of X containing F.

Proof. Obviously, Ω_1 contains the bound e of X. Let $k \in X$ and $x \in \Omega_1$. Then there exist $a_1, a_2, \dots, a_n \in F$ and $r_1, r_2, \dots, r_n \in X \setminus \{0\}$ such that

$$r_n(r_{n-1}(\cdots(r_1((\cdots((e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n))) \cdots)) = 0.$$

Since F is stable, we have $ka_1, ka_2, \dots, ka_n \in F$. It follows that

$$\begin{aligned} r_n(r_{n-1}(\cdots(r_1((\cdots((e(kx)*e(ka_1))*e(ka_2))*\cdots)*e(ka_n)))\cdots)) \\ &= r_n(r_{n-1}(\cdots(r_1(k((\cdots((e(x)*e(a_1))*e(a_2))*\cdots)*e(a_n))))\cdots))) \\ &= k(r_n(\cdots(r_1((\cdots((e(x)*e(a_1))*e(a_2))*\cdots)*e(a_n)))\cdots))) \\ &= k0 = 0. \end{aligned}$$

Hence $kx \in \Omega_1$, and so Ω_1 is stable. Assume that $e(e(x) * e(y)) \in \Omega_1$ and $y \in \Omega_1$. Then there exist $a_1, \dots, a_n, b_1, \dots, b_m \in F$ and $r_1, \dots, r_n, s_1, \dots, s_m \in X \setminus \{0\}$, where $n \ge m$, such that

(1)
$$r_n(r_{n-1}(\cdots(r_1((\cdots((e(e(e(x) * e(y))) * e(a_1)) * e(a_2)) * \cdots) * e(a_n))))\cdots)) = 0,$$

(2)
$$s_m(s_{m-1}(\cdots(s_1((\cdots((e(y) * e(b_1)) * e(b_2)) * \cdots) * e(b_m))))\cdots)) = 0$$

Note that (1) is equivalent to the following:

(3)
$$r_n(r_{n-1}(\cdots(r_1((\cdots((e(x) * e(y)) * e(a_1)) * e(a_2)) * \cdots)) * e(a_n)))) \cdots)) = 0,$$

which implies that

that is,

$$r_n(r_{n-1}(\cdots(r_1((\cdots((e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n))))))) \le r_n(r_{n-1}(\cdots(r_1e(y)))).$$

It follows from Lemma 3.8 that

$$\begin{split} r_n(r_{n-1}(\cdots(r_1((\cdots(((e(x)*e(a_1))*e(a_2))*\cdots))*e(a_n))*\\ & e(b_1))*\cdots)*e(b_m)))\cdots))\\ &\leq r_n(r_{n-1}(\cdots(r_1((\cdots(e(y)*e(b_1))*\cdots)*e(b_m)))*\cdots)) \end{split}$$

so from Proposition 2.2(ii) that

Hence

$$s_m(s_{m-1}(\cdots(s_1(r_n(r_{n-1}(\cdots(r_1((\cdots((e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * e(b_1)) * \cdots) * e(b_m))) \cdots))) = 0,$$

which shows that $x \in \Omega_1$. Therefore Ω_1 is a KS-filter of X. It is clear that $F \subseteq \Omega_1$. This completes the proof.

Theorem 3.10. Let X be dot-commutative such that e(kx) = ke(x) for all $k, x \in X$ and let F be a stable subset of X. Then the set

$$\Omega_2 := \{ x \in X \mid r_n(\dots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \dots) * e(a_n)) = 0 \\ \text{for some } r_1, r_2, \dots, r_n \in X \setminus \{0\} \text{ and } a_1, a_2, \dots, a_n \in F \}$$

is a KS-filter of X containing F.

Proof. Clearly, Ω_2 contains the bound e of X. Let $x, y \in X$ be such that $e(e(x) * e(y)) \in \Omega_2$ and $y \in \Omega_2$. Then there exist $a_1, a_2, \dots, a_n, b_1, b_2, \dots, b_m \in F$ and $r_1, r_2, \dots, r_n, s_1, s_2, \dots, s_m \in X \setminus \{0\}$, where $n \geq m$, such that

(4)
$$r_n(\cdots(r_2(r_1(e(e(e(x) * e(y))) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) = 0,$$

(5)
$$s_m(\cdots(s_2(s_1(e(y) * e(b_1)) * e(b_2)) * \cdots) * e(b_m)) = 0.$$

Note that (4) is equivalent to the following:

$$r_n(\cdots(r_2(r_1((e(x) * e(y)) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) = 0,$$

which implies that

$$r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * r_n \cdots r_2 r_1 e(y) = 0,$$

that is, $r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) \leq r_n \cdots r_2 r_1 e(y)$. Left "."-multiplying both sides of the above inequality by s_1 , we have

$$s_1(r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n))) < s_1r_n \cdots r_2r_1e(y) = r_n \cdots r_2r_1s_1e(y).$$

Right "*"-multiplying both sides of the above inequality by $s_1 r_n \cdots r_1 e(b_1)$, we get

$$s_1(r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n))) * s_1r_n \cdots r_1e(b_1)$$

$$\leq r_n \cdots r_2r_1s_1e(y) * s_1r_n \cdots r_1e(b_1)$$

$$= r_n \cdots r_2r_1s_1(e(y) * e(b_1)),$$

and so

$$s_1(r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * r_n \cdots r_2 r_1 e(b_1)) \\ \leq r_n \cdots r_2 r_1 s_1(e(y) * e(b_1)).$$

Left "."-multiplying both sides of the above inequality by s_2 , we obtain

$$s_2(s_1(r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * r_n \cdots r_2 r_1 e(b_1))) \\ \leq s_2 r_n \cdots r_2 r_1 s_1(e(y) * e(b_1)).$$

Right "*"-multiplying both sides of the above inequality by $s_2 r_n \cdots r_1 e(b_2)$, we get

$$s_{2}(s_{1}(r_{n}(\cdots(r_{2}(r_{1}(e(x) * e(a_{1})) * e(a_{2})) * \cdots) * e(a_{n})) * r_{n} \cdots r_{2}r_{1}e(b_{1})) * r_{n} \cdots r_{1}e(b_{2})) \\ \leq r_{n} \cdots r_{2}r_{1}s_{2}(s_{1}(e(y) * e(b_{1})) * e(b_{2})).$$

Repeating the above argument m-times, we conclude that

$$\begin{split} s_m(\cdots(s_1(r_n(\cdots(r_2(r_1(e(x)*e(a_1))*e(a_2))*\cdots)*e(a_n))*\\ r_n\cdots r_1e(b_1))*\cdots)*r_n\cdots r_1e(b_m))\\ &\leq r_n\cdots r_1(s_m(\cdots(s_2(s_1(e(y)*e(b_1))*e(b_2))*\cdots)*e(b_m)))=0. \end{split}$$

Consequently,

$$0 = s_m(\cdots(s_1(r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * r_n \cdots r_1e(b_1)) * \cdots) * r_n \cdots r_1e(b_m)$$

= s_n(\cdots(r_n(\cdots(r_n(e(x) * e(a_1)) * e(a_1))

$$= s_m(\cdots (s_1(r_n(\cdots (r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) * e(o_1)) * \cdots) * e(o_m)),$$

which implies $x \in \Omega_2$. Let $k \in X$ and $x \in \Omega_2$. Then there exist $a_1, a_2, \dots, a_n \in F$ and $r_1, r_2, \dots, r_n \in X \setminus \{0\}$ such that

$$r_n(\cdots(r_2(r_1(e(x) * e(a_1)) * e(a_2)) * \cdots) * e(a_n)) = 0.$$

Since F is stable, $ka_1, ka_2, \cdots, ka_n \in F$. Hence

$$\begin{aligned} r_n(\cdots(r_2(r_1(e(kx)*e(ka_1))*e(ka_2))*\cdots)*e(ka_n)) \\ &= r_n(\cdots(r_2(r_1(ke(x)*ke(a_1))*ke(a_2))*\cdots)*ke(a_n))) \\ &= k(r_n(\cdots(r_2(r_1(e(x)*e(a_1))*e(a_2))*\cdots)*e(a_n)))) \\ &= k0 = 0, \end{aligned}$$

and so $kx \in \Omega_2$, i.e., Ω_2 is stable. Obviously, $F \subseteq \Omega_2$. Summarizing the above facts we know that Ω_2 is a KS-filter of X containing F. This completes the proof.

References

- [1] Y. B. Jun, S. M. Hong and E. H. Roh, BCI-semigroups, Honam Math. J. 15(1) (1993), 59-64.
- [2] Y. B. Jun, X. L. Xin and E. H. Roh, A class of algebras related to BCI-algebras and semigroups, Soochow J. Math. 24(4) (1998), 309-321.
- [3] J. Meng, BCK-filters, Math. Japonica 44(1) (1996), 119-129.
- [4] J. Meng and Y. B. Jun, BCK-algebras, Kyungmoonsa Co. Korea, 1994.

Department of Mathematics Education, Gyeongsang National University, Chinju (Jinju) 660-701, Korea

E-mail address: ybjun@nongae.gsnu.ac.kr